GEOG 371     Reading Questions from Vandermeer & Perfecto, Breakfast of Biodiversity (2nd Ed.)
Please note that you do not need to turn in answers to these questions.  However, these questions provide the basis for some class discussion and quiz/exam questions.

FOREWARD

According to Shiva, in biodiversity conservation what is the dominant paradigm, its problems and outcomes?

Describe the second paradigm, and how it overcomes the problems of the dominant paradigm.

PREFACE

List the most typical shortcomings of books about rainforest conservation.

CHAPTER 1

1. List the benefits of tropical rainforests.

2. Explain the meaning of the “hamburger connection”

3. List the six stage process of rainforest and tropical land destruction.

4. Identify sources of plantation laborers, why they get hired, and why they get laid off.  Where can they then go?

5. What activity “opened up” forests to outsiders, and led to homesteaders (pp. 6&7)?

6. In Central America, what was driving banana land expansion in the 1990s?
7. Why is the Sarapiqui particularly attractive for banana expansion?

8. According to the authors, contrast the stated vs. actual purpose of “bridges for peace”?

9. If bananas are associated with so many negative outcomes, then why are the banana companies welcomed locally and nationally?

10. Why are biological reserves more at risk now than they were in the past from landless peasants?

11. What is meant by the phrase “fabric of causality”?  What do authors believe is the critical thread of that fabric?

12. Summarize the strategy of the mainstream environmental movement (p. 13).

13. Contrast the above strategy with the political ecology strategy.

14. What is the experience of Costa Rica with the mainstream strategy?  What does this suggest about the value of the mainstream model, according to the authors?
CHAPTER 2

1. Summarize the two competing notions/metaphors about tropical rainforest stability.  Which of the two do the authors feel is the most useful, and why?
2. List the 6 key factors in rainforest function.

3. Why does the strategy of preserving small patches of forests leave the forest fragile like a house of cards?

4. Describe what would happen to a person who pitched her tent under an acacia tree.
5. Why is seed dispersal over large distances important?

6. How is the turnover rate in gap dynamics hypothesized to affect global warming?

7. Explain why the authors believe that modern agriculture is more harmful to rainforest resiliency than peasant agriculture.

8. Explain why tropical soils are generally not agriculturally very productive (pp. 35,36,43).

9. Why do loggers prefer Asian forests over neotropical (American) ones?

CHAPTER 3

1. Where is most of the nutrient stock in tropical rainforest environments?

2. Summarize three reasons why tropical rainforests are not usually agriculturally productive.

3. Rank the various soil types in terms of their productivity for agriculture.

4. Is the basic technology available for producing grains in tropical rainforest environments sustainable?  Explain.

5. What are the advantages of perennial crops?

CHAPTER 4

1. Describe in detail how banana “enclave” production is organized and functions (pp. 53-?).  Identify two ways that the banana industry affects the amount of land available to peasants.

2. Summarize the story of Guatemala, Arbenz, United Fruit, the Dulles brothers, the Eisenhower Administration, and the CIA.  Do the authors believe that Arbenz was clearly a communist himself?

3. Summarize the discussion about the socioeconomic side of modern agriculture.

CHAPTER 5

The authors state that modern agriculture has become part of the modern industrial system, and tends to be subject to the same rules.  Identify the two general classes of people in this system, and how they are interdependent.  Why does this general class analysis – which appears generally applicable in developed countries like the United States, not seem to be an accurate description of Third World export production (see also figure 5.2)?  Why is this setting in the Third World referred to as a “dual” economy?
What is the meaning of articulated production?  Where does it happen?
What is the meaning of disarticulated production?  What countries are typical hosts of it?

What is “functional dualism”?  Give examples.

What are the two reasons given why the developed world remains successful at economic development?

Why has much of the Global South been unsuccessful in economic development, according to dependency theorists?
CHAPTER 6

List and describe the three negative consequences of logging.

Describe the uses of rain forest wood as shown in Figure 6.1.  Based on the reading, is there reason to consider that these kinds of uses are a major threat to rain forest stands in Central America?

Summarize the contrasting examples of “logged and left” vs. “logged and reforested”, and on what basis the authors claim that the former can result in more desirable outcomes than the latter.

What are the differences between a plantation forest and a natural forest?.

In the context of the previous question, describe what Ston Forestal is doing in Costa Rica.  Where are the products they produce being purchased?

Outline the three stage process of deforestation that is often observed.
CHAPTER 7

According to the authors, what do the Guatemalans, the Iranians, and the Vietnamese have in common?  Do you agree?  Explain.

Describe the issue with Chiquita’s WTO case.  What is the problem with the Caribbean producers?
How many American jobs were at stake with the Chiquita case?  What were the likely effects on US consumers?  Why then, do the authors believe that the Clinton Administration took on the case?

Regarding the Chiquita case, what happened with the Cincinnati Enquirer?

Have you ever heard of the World Social Forum, as described near the end of the chapter?  Why or why not?

CHAPTER 8

1. Describe the rain forest conservation model utilized by Costa Rica, and its results.

2. Why did the rain forest conservation efforts of Costa Rica represent a cleaner story than the stories that could have been told of Guatemala or Nicaragua?
3. Summarize the experience in the Saripiqui, and the dilemma in its analysis (p. 108-114).

4. Summarize the plan suggested for the area by the authors.

5. Thought question:  How can it be that poor countries have on one hand so much poverty and unmet needs, but have so many people without any jobs or productive activities?

6. In the case of Nicaragua, contrast the Sandinista handling of peasants and deforestation with that of the post-Revolutionary government.  Contrast the outcomes, according to the authors.
7. Summarize the lessons of the Costa Rica/Nicaragua comparison.

8. On what do the authors make the statement that rational planning is not anticipated at either national or international levels, and what do they mean by this? (note that the term “externality” means “side effect”)
CHAPTER 9
1. In the second paragraph, the authors make the case that their concerns are justified.  To what degree do you think that most people in the general public in the US would agree with them?  Why or why not?

2. Summarize the basis for the argument that what happens after the rainforest is cut down is what really matters, more so than if the rain forest is cut down.

3. Describe how traditional coffee agro-ecosystems are similar in structural attributes to forests. What points about management strategies do the authors make later in the chapter that utilize the example of the traditional coffee agro-ecosystem?
CHAPTER 10
The authors state that the construction of nature that “sees much of the natural world as being worthy of preservation, reconstruction, rational use, etc.” is frequently at odds with the masses of poor peasants and slum dwellers of today’s Third World.  Why is this the case, and what do the authors believe must change first for them have the “same reading” of nature as the privileged classes of people who live in the developed world?

CHAPTER 11

1.  What is meant by:


a) web of causality


b) planned mosaic


c) intensify the struggle for social justice

2.  Explain why a lack of understanding of any of the three components in the previous question is likely to lead to less-than-optimal outcomes.

